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GENERAL MATHEMATICS

Full Marks : 90
Pass Marks : 27

Time : 3 hours

Candidates shall note that each question will be multilingual,
viz., in English/ Assames\e_/ Bengali/ Bodo/ Hindi medium,
for their ready reference. In case of any discrepancy or
confusion in the medium/version, the English version
will be considered as the authentic version.

The figures in the margin indicate full marks for the questions.

Take nt = ?7—2, wherever necessary.
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SECTION—A / 3}l / 3l /| F—agrM [/ S—a

Choose the correct answer

0% TS0 AR e :

o e (RS :

4 free aE i

HE IR G :

%ﬂ}ich one of the following is a non-terminating repeating
decimal? . . :
g (FCH! iy (Amsef il 2
R o Frafit (eefirs i 2
TEE = ﬁaﬂﬁﬂ% EICRICREIeK
frfafea & @ BF-T1 @ el TvweE TEw 37

3 T 64 124
) & ®) & & 2se @) 525
/2. The product of the zeros of x? -15 is 1

x? 15 DR [ T

x? — 15~ SRR T @

x2 —15 T enfora Rt aFsTETE S

X2 —15 % YR 1 A B

y/-is (b) 15 (¢ 15 d -V15

/3( Consider the following pairs of linear equations :
(i) 3_x +2y =5; ij- 3y=5
(i) 2x-3y=7; 2x —:'-;Sy =8
Choose the correct alternative. 1
(@) The pairs in (i) and (ii) are consistent.

(b) The pairs in (i) and (ii) are inconsistent.



(c) The pair in (i) is inconsistent, whereas the pair in (ii) is
consistent.

(d) The pair in (i) is consistent, whereas the pair in (ii) is
inconsistent.

TR (AT TN REPRD! s A1
(i) 3x+2y=395; 2x+3y =35
(i) 2x-3y=7,2x-3y=8
¥ Rewh! MR Slered |
(@) (i) S (i) I QORI IS |
(b) (i) = (i) I AECIZER PRI |
e) ()T CTRCET TPASTS, R (i7) T CIRCHT IS |
},V (i) QAT A2sre, 7 (i) 3 mﬁmuﬂ\% |
RIS Cafie SRR CaTeiah) ﬁzaw IA
() 3x+2y=5; 2x+3y =95
(i) 2x-3y=7; 2x-3y =8
W% [ @R 718 |
(@) (i) G (ii)-9F (ST 8T |
(b) (i) 9% (ii)-97 CSTSIGE SRS |
(c) (1)49] el sPisre, f¥7 (ii)-9q (@b ’MK‘S |
(d) (i)-a3 e oS, 73 (ii)-97 CHTel, PiTS |
TEER SRAIR FRARA 5 TERE! TR
() 3x+2y=95; 2x+3y =95
i) 2x-3y=7, 2x-3y =8
i et a1 g |
(@ (i) 3R (i) 7 TR @EEE|
(b) (i) I (i) T T TER @R |
() ()T T @refy, e (i) 79T @veEm)
(@), ()T T e, U (@) R ST e
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1 YR w3 ot o R At

() 3x+2Yy=95; 2x+3y =5

(i) 2x-3y=7;,2x-3y=8

wd T gfi)

(@) (i) 3R (i) 2R gm g &)

(b) (i) 3R (ii) AT g 26T B

(c) (i) < ™ AW & FETH (i) F LW T4 B
(d) (i) < F™ TG R SE(H (i) F W @@ B

/l‘he 30th term of the AP 10, 7, 4, ... is
10, 7, 4, ... A% A5¥0@ 30T *M0B] A

10, 7, 4, ... >4®3 2A5feBa 30w =M 2zl
10, 7, 4, ... ¥Hga Srmfaf 30% femn smE™
10, 7, 4, ... 9Tt &t =1 30af 92 B

(@ -67 y« 7Y (c) -87 d -97

}/Let ABC be a triangle such that AB=6VY3 cm, AC =12 cm
and BC =6 cm. Angle B is

ABC fag&d AB=6V3 cm, AC =12 c¢m 3% BC =6 cm. B 0]
2'E - '

ABC fagas AB =63 cm, AC =12 cm @R BC =6 cm. B (@l
2

ABC ¥m@f@amA AB =6V3 cm, AC=12 cm M BC =6 cm.
B @911 S1E™

ABC fyw # AB=6Y3cm, AC=12 cm ¥R BC=6cm 7,
a’rﬁWBmm?ﬁn

(@) 120° -(b)/90° . (c) 60° (d) 45°
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7The distance between the points (0, 0) and (-8, 6) is
(0, 0) &I (-8, 6) R PR T 77 X7

(0, 0) 3% (-8, 6) ™ b Wy 79 =l

(0, 0) 3T (-8, 6) fo=l AHAM TSRH THARAT =™

A frgait (0, 0) 3iv (-8, 6) F AT A &

ylo (b) 8 ") 6 @ 2

7. Which of the following is true?
‘ (a) The value of tan A is aIwaSrs less than 1.
(b) The value of cotA is always greater than 1.
(c) sin® =~:5; for some angle 6.
(d) sec6= 1—52 for some aﬁgle 8.
T (FICOT 7T ?
(@) tan AT T T 19SS TF |
ﬁ/ cot A9 T S 19SS ©IeT |

(c) @Al (@19 69 NI sinb =

m\s wlm

d) @A @1 07 A sech =

ﬁzm@mﬂf%rm

(@) tanA-sﬂﬁﬂﬁﬂ#ﬂicwciﬁv‘n

(b) cotA-<F T I 1 (VT T |

() WA I 6-97 T sin 6 = 3.
12
=

(d) @A @19 6-93 T secO =
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( 6 )
MREEH d1e q2?

(@) tan AT 91 ewmt 1 frgs 3
(b) cot AT T ewEst 1 faggg e
(c) wﬁm@’meﬁm@msin(h%.
(d) WﬁﬂT@ﬂTSﬁWsecB—%
Frfafea § / SF-w1 & 27

(@) tan A W W 1 ¥ %1 B 2
(b) cotAETWﬁﬂﬁalﬁH@@m%l
(c) o = 6 % T sin 6 = 2 2 B

(d) Fereht %m @ % fre sec6 = 12 B 21

/ The angle of elevation of the top of a tower from a point on
= the ground, which is 15 m away from the foot of the tower,

is 60°. The height of the tower is

@5 T AW [T 15 mW‘T‘ﬁEWu‘ﬁﬂﬁ’ﬁ W@@tﬁﬁ%m
@19 60° T'7e T Twwel 7]

3 T MY (W 15 m TR TS AR @ Ry 0w vy Nk
o @1 60° 2CE TS Twel FA

TR AR IR FRIFEE 15 m TRUTEE TEE 9EE. 9 ReRwE
aanﬁ@h@’mmmwmzmﬁmwﬁq

ot T forg A S e F R-Rg R 15 mog R, WRR ¥ R o wm
F197 60° | HHR A =g Boh

@ 15m B 5Vm @ =m (@ 30Vsm
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9, A circle can have parallel tangent(s) at the most. 1
. GBI 999 37 [ ____ O STIEAE =opE AR 2T |

% qeaq @ @R b TG o3 QRS A |

A S i @ fom it e o g |

T I 1 A § HUE wei-tard § gewdt &
(@ 1 -@/ 2 () 3 - (@) 4

10 The deé}ee measure of the angle at the centre of a circle is 1.
The area of the sector is 1

359 (TS (IR R 1, JEFICEH e A

Jeeq em (@efoa A 1, Feels df @

gty frears Sy BRE @' R '@ 1, SERi ssiEn e
o 96 % F5 F wow g 1 faft @, @ sen Peaes SRl BT

: 2 2 2
2 nr nr nr
(@ nr et = (o Tt e B es

45

where r is the radius of the circle.

'S r T JSOR TP |
@A e J3od AP |
3 1 o1 T S A
75t r 39 1 frea B

1}/The volume of a sphere is 28871 cm°>. The radius of the
1

sphere is
51 (AP SRS 288 1 cm®. (ATFICHR IPTY 2o

&3fl (AT SIS 288 7 cm?3. (IERbA TP 2@
ﬂﬁg@tﬁﬂwﬁﬁmzsm cm?®. R wE@Er SEE
fRpeft e =1 e 288w cm® & | e At fisn #

(@ 2 cm (b) 4 cm yG cm (d) 8 cm
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The probability of an impossible event is

b1 STEA YoAR TSIl 2’

GFH SPTIA TOA 1] el
LIECEEIRIEISIPIHE RS Bic o o
IV T A Wi Bt R

(}) 0 (b) 025 « fe] 05 d) 1

SECTION—B / ¥—4l / %141 / @—aramit | T—m
Find the HCF of 96 and 404 by

Hence, find their LCM.

e BeomPRAT @ 96 W 404 7 T 8. TEed | TR om
FrEes =1 31, @, Sfyed |

AT BemPead =i @@ 96 @3
99 (ACF O 9. . 8. ({7 I |

ﬁmmmaﬁ&ﬁﬁmammﬁ%m404ﬁé. . 1. g1 Awe
="Kt 3. o7 &, Rewy ' T

AT prEe Tl g 96 3tk 404 @1 He

the prime factorization method.

404-93 9. . @, @7 FEN

LCM 31 $ifsm |

!

, is 36 m. Find the dimensions of
the garden.

99 EHORFE AR siwets Ty 4 m @R | ¥R ARMR w41 36 m.
fororema T, o fefy 1 |

mﬁwwmmﬁuw

ol 4 m@ﬁl@ﬁ”@ﬁl‘ﬂﬁﬂt@SG m.
ABA Ol 2% ety vz |
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AH IFaNR foar St MeaRsn TarRfigs 4 m afkm ) 3f 9fii faf
GEHal 36 m. faER SR Mo R TEraE! g7

TF AR a6, a6, ?ﬁ@lﬁ%cmmaﬁﬁaa% w1 i
36 m ¥ =T & dmnd 71 H

The 11th term of an AP is 38 and the 16th term is 73. Find the

15
// common difference. 2

Bl F9ER A5fS] IITWSSW 1699 M 73. STYRT S5 o
41 |

G R dfSq 1199 <% 38 W33 1699 Wb 73. R 58 [
3¢l | .

WA g s 11 fr fawen 38 I ltsﬁtﬁaran?a TR
BRI fag | e

et TAT A %1 1147 98 38 & qU1 163'T1?T:'73% a‘tmmaia:{at
(common difference) T grTI? '

Find the point on the x-axis which is equidistant from

16.
(2, -5) and (-2, 9).
(2, -5) O (-2, 9) ﬁ’i@ﬁ’ﬁTWx—W ewwﬁ*@ﬁcfn
1
2, —5) G (=2, 9) R 7 (e TG x-oww Tofea 4l o ﬁcrzr
I |
(2, -5) I (-2, g)ﬁaﬁﬁqﬂﬁmwmxﬂ&a@ﬁw
g ferera feg |
x-98 | 98 g 710 AR S (2, -5) 3R (-2, 9) W FHGTY B

- [antd.
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/- If sinA= %, calculate cos A and cotA. (A is an acute angle)

1 sin A = 2, cos A W cot A fefy 71 1 (A <1 SPHERI)

2

T sin A = %, cos A &% cot A f3eft 331 | (A @316 SPHCFI)
I sin A = 2, cos A 3T cot A T R | (A 311 B @' @)

ﬂﬁ_sinA:% ¥, @ cosA AN cotA T A TREFRW HRTE (A T
=T §)

18. Evaluate /TR ffa 31/9m fefa wca1/am g /am Frefere -
_ sin 30°+ tan 45°- cosec 60°
sec 30°+ cos60°+ cot45°

19. 1t tan2A = cot(A -18°), where 24 is an acute angle, find the
value of A.

T tan2A = cot (A -18°), A7 W fefy =41 1 24 BT STHCFI |
T tan 2A = cot(A - 18°), A-«q T Fef1 3T 1 24 @7 STECI |-
I tan2A = cot (A -18°), AR TR Rg) 24 3 99 @ @'

(R tan2A = cot (A -18°), &l 2A T e R, Ay A HH 19 Hifd)

20. Prove that/2q 13[ G/ 211 T /AT e R /R i s
CoOSA '1+sinA
+ =
l+sinA  cosA 2SC_CA

Ais an acute angle, 2
A B STHGII |

A 3 ST |
A 3 AT @' w4

A TF =TT §)
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21¢< A bag contains 3 red balls and 5 black balls. A ball is drawn
at random from the bag. What is the probability that the ball

drawn is (a) red and (b) not red?

G TS 351 81 AR S5 I 6T I WRR | @RI | 9B 7
Ao 51 2'9 | B JEC0! (@) T T (AR F (b) 8] 987 FIEAR
SteIfer e 2 |

a5 Wfe 3f6 7= @ 5 e Wwew @ AR AR (< =
YT BT 2ol | BT 90 (@) FE 9% RSTR G3R (b) FE T8 7 2EWA
TR F© 2 :

TR SETEE HE 3 T S AR U 5 MEW 79 € | SeiHmE qeed 4
o8 o TETE | (@) TS WA A AR (b) T M S sneraEmE
Fqai?

T 9§ 3 @ iR 5 et W E) W A A A e ageedn feed
STl & | Sl STeRaT F41 § 7% 78 (a) e & 3R (b) A1 T 7Y

SECTION—C / #—>41 / s—st /. T—aTEEN [ T—WTT

LZ}Prove that V2 is irrational.
o1 1 (N 2 ARG |

AN I T V2 TR |
HRAA @re & V2 3 TEeeai )
firg SIfSte fop V2 w g v B

_}3./ Divide the polynomial p(x)‘by the polynomial g(x), and find
the quotient and the . remainder : 3

p(x) IR q(x) IO 239 w I Sl S S fRefy 34
p(x) awﬁf;w q(x] B EIRSD w, 3%, I @ ST e Al :
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p(x) T et g(x) foeme st T 3 T S T g
FETR p(x) Bl g(x) @ W01 A 3 TR a9t v T I :

p¥)=x3-3x% +5x-3, g(x) = x2 -2

24. If we add 1 to the numerator and subtract 1 from -the

- denominator, a fractio_n reduces to 1. It becomes +

5 if we only

.add 1 to the denominator. What is the fraction?

AR TS 1 el I A 2 o[ 1 Rt e, 9B e = 1.
Y 3 wFe zachrecs 1 mﬂﬁ,mimﬁ%ﬁmw@‘rﬁ?

W SN AR 1 @6 IR GAR 29T (AT 1 Ree 3f1, < ooy =1 1
S W sy Z@ s 1 o1 IR, O «ofb 2 11 sanens 2

IR S TR 1 @ TEE SR e 1 TH@ 4, AR SRR
1 3 9™ St gk e 1 @ e SRR L P TIE &1
QI3 "7

IRTAINH 1 NI T WA Y 1913, @t B 1 9 wew o ) 9 =
- FEd WA 1%3%,@%%@31?&%133&?@1%?

}{ Solve /ST = /AR e /AT R /e i
V2x2 +7x+5vY2 =0

26. The difference of squares of two natural numbers is 180.

The square of the smaller number is 8 times the larger number.
Find the two numbers.

B TR PR 9 e 180. 7 RNBR 3+f wreadr 8 @t T,
RY1 451 Frefy <41 |

T TR SRR Wl Reora 180, calb ik 3o uha 8 @ =03,
S e fefa e o

AR SRRt iRl w180, gERM srRmR wion YRA s
8 FM Tt | sl A g

3 S T % @l @ shw 180 31 O de T @ w8
31 3wt 1 S |
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28.

29,
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In what ratio does the point (-4, 6) divide the line segment

joining the points A(-6,10) and B (3, - 8) internally? 3
A(-6,10) W% B (3, - 8) 7 Fuil @res (-4, 6) fra & wwpmes
Efdes 9 ?
A(-6,10) @3 B(3, -8) R AT @SS (-4, 6) g B weme
sEdeE Sa 7
A(-6,10) 3R B (3, _ g) fa) 3 e T @t (—4, 6) e |
TS THI?
firg (-4, 6), Targait A(-6,10) 3 B (3, — 8) F Sigd AT WERES H TANH
w1 @ farg e d fawfom w87
Find the sum of the first 22 terms of an AP whose common
difference is 7 and the 22nd term is 149. 3
OB FNEA ST THRG WEq 7 WF 2297 6l 149 7’76 TR 299 2201
ovd (1SS fef 40
G5 SNER 2efed TR S@q 7 «R 2297 o 149 2o @9 249w 22f6
o (qIsrEe felefd Tl | |
Mmﬁ%sﬁﬁﬂﬁmﬂ%ﬂmﬁ?%ﬂ 22fy faemen 149 SEwsed
3y fify 22 fereraf amemd g | |
Iq gH=R A 99H 00 el 1 4 §a I e @d W 7 @ i
204t 92 149 ®!
In an equilateral triangle, prove that three times the square
of one side is equal to four times the square of one of its
altitudes. 3
o 4 @B1 TR faewd 9Bl ArEd e fefqa O o Tafea 3E
BfRgeE S |
wqmmawwﬁwmwmﬂf@ﬂmm@ﬁw
57 BRI I |

[ Contd.
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P @Ew AR e ey Sty B st i
JTIEIT AN T SAEH TR dwEE gHE S|

forel wmarg Py A, fag fifsg & wh ww g F =l @ fog swE
idea % =il % =R TH F TR 2hl 2

Find the value of K if the points (8,1), (K,-4), (2, -5) are
collinear.

(8,1), (K, -4), (2, -5) ™ et @ra@y 2'ca K 7 9 fefa <541 |
(8,1), (K, —4), (2, - 5) ™ {3 wsea@m 2zga1 K-waq w1 fefy e |
(8,1), (K, —4), (2, - 5) &= "wmgm & gr@enft Smeen K &1 wm g
K1 1 9@ it afe faegd (8, 1), (K, - 4), (2, - 5) W #)

From each corner of a square of side 4 cm, a quadrant of
a circle of radius 1 cm is cut and also a circle of diameter 2 cm
i1s cut as shown in the figure below. Find the area of the

reniaining portion of the square (Take 1 = 272) "

o a8 (1Y6IR A 4 cm TW B Ifewa 2R R oMl 1 em
TIPTT 1 F&2 BT G B @A TR, WF 2 om APR @Bl FE 7

ﬂ@mraemwmﬁ?wwmﬁtﬁ@ﬁ(nz%%qﬁﬁ);

mmﬁWW4cmwaﬁaﬁmﬁ%ﬁ@mlcm
TENE @I Jred @I @1 @B @en B 4R 2 cm ATH

@3 ges @B el TR | dfeway PR wem wf Ry

(ﬂ=%gatam):

TREH wEmiEE R R 4 cm AN A wfesmef @'
ﬁm%ﬁmlcma’@aﬁnﬁ@%@?ﬁa’mﬁm’mwmz cm
@ﬁﬁtﬁ?ﬁ%@qm’mwwﬁﬁmwwﬁﬁmﬁﬁ@

(n=%_ﬁ'\1ﬂﬁ%ﬂ) :
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4 cm Y1 9 TF 91 % ¥ w4 ¥ 1 cm B g g9 w1 ww-wgein
21 T 2 g 9§ 2 cm =A@ F T 4 Fer @ @ S A et

ﬁmhw%naﬁﬁwmmmmm(m%m):
B

A

SECTION—D / §—>I4t / ¥t / H—aTer [/ 9—%T

32, Solve the pair of equations by reducing them to a pair of linear
4

/ equations :

o HRRRTAT G TR T IR T 4 -

T SR (aTE! CARS NI T e A A

e GHAATE TGl SR FHFETE TR e AEger T
e e g ) Y w3 g 3 e R A

5 & 1 o
ix—~1" g-2

g @

x-1 y-2

33. ABCD is a trapezium with AB||DC. E and F are points on
non-parallel sides AD and BC respectively such that EF is

parallel to AB. Show that
AE _BF 4

ED FC'i

B19-GM/21B [ Contd.
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ABCD @ﬁ%mawnnc.wvmwmwwma 8IS T
E 9% F 1 7 03 @ 2% W0 EF W AB S | (YA @
AE _ BF
ED FC’

ABCD GPfeEIcTd AB||DC. @3 WM™ a2 AD @t BC-a3 Ti@

FAE @R F qfo Ry @@ Ao e e EF @@t AB G |

(e @@ é—E—=BF

ED FC'
ABCD 3fif@mfy AB||DC. 3 frmfe smaf@ AD amy BCT wmm
Wﬁ&EmFﬁqﬁﬁﬁ@mﬁwmwﬁ EF 3 AB fam sm)
HRi R P T

ED FC’ __
ABCD & wme™ @ @ AB||DC %1 smwit ywisft AD 3l BC w

A g E 3R F @ v @ 3 EF ¥ AB % ¥9i® 3| Tuise f%
o Bl
ED FC

. 34. A 1'5 m tall boy is standing at some di

building. The angle of elevation from his eyes to the top of the
building increases from 30°. to 60°

as he walks towards the
building. Find the distance he walked towards the building. 4

'S m &4 41 60T 30 m &4 SHFRR R Ry wew fm Gz )
(O€ HBIRRACGR I (& PO #1051 #1051 (S€T 51 *141 WHRFIOR Tt

T @1 30%%60°tﬁmu®éw@ﬁ¢mwmwmﬁﬁ
341 | \ |

stance from a 30 m tall

'S m =771 @36 (071 30 m Twem WoRRN (a Reg @y Wiy Wi |
Ol wuferefon fice &5 Meww % Nk oW W (3o SRR M

B @19 30° (T 60°CS (T T | ORIy e &b Tewm g
faefa 3 | RS

I'5 m TS 9/ g 30 m il R RifceRwm @ T T 2
Tt e Rty Prftaflm S ' AR s s 30°
m60°mmlﬁﬁﬁ%ﬁmwwmﬁ§m
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1'5 m @91 TF @1 30 m 39 T WA ¥ F9 gl W @l }| & g
S e H IR T R 79 3wl aifE A W F R 1 I | 30°
¥ 60° B T 8| SR ¥ w7y i iR fRe gt qe were T R

35. Prove that the tangents drawn at the ends of é diameter of
a circle are parallel.
A 41 (¥ JB IPR T4 B P TG |
21 T (§ 0O IR AW HI1 P ST |
mmwmﬁﬁ@?ﬁ@ﬁmrﬁahammmaﬁmqﬁaa@mﬁn%n
ST |
mﬁﬁuﬁﬁmﬁ%waﬂm%ﬁﬂm@ﬁﬂiwmm
it &

36. Construct a triangle of sides 4 cm, 5 cm and 6 cm, and then
a triangle similar to it whose sides are % of the corresponding

sides of the first triangle. (Write the steps of construction.) 4
4 cm, 5 cm W 6 cm I GBI ATH W@ T U OF PrRE W
S mmﬁwmwwwﬁwﬁWwﬁW

2 281 | (S54RI iR 1)

4 cm, 5 cm YR 6 cm AW I IS AT FCA G2 TRAR G TP
aaft farge e I0A1 T AR i fageity o RePE 2 @ 73 |

(TR o e )

4 ¢cm, 5 cm ¥R 6 cm @AM JFE JRETRAgm g AR 9 =
Hewd S 91 A8 aEnf-aym 3nfle S srarf e 8y smafRumi
Hrar an@rrﬁ‘uqﬁtﬁ%tﬁmaml (3RgTE reRE! for 1)

4 cm, 5 cm ¥ 6 cm wﬁaﬁwﬁgmﬁmﬁmaﬂtﬁﬂm
quEy TF = Pys A @ i, Rt yend R g e 6t g yenei
A 2t g (e & = 8 o)
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SECTION—E / ®—q / &—Ixl | S—<TEr [/ $—wm

37. A toy is in the form of g éone of radius 3'5 cm mounted on
a hemisphere of same radius. The total height of the toy is

22
15:5 cm. Find the total surface area of the toy. (Take mt = -—;)

D1 [ T TJPIYS 1 FhATF @9/ 35 cm IPIHS bl I
MoS | [EABR TP Toer 27 155 cm. [EAIOR o ~el fefa <<
(=22 o ) |

T T IR TIPS b SR TR 35 cm APTHTS @
T A 58S 1wy (i wel =@ 155 em CREIA 6 oFIfe
ﬁ#ﬂﬁfcmn(n=272ww) '

LES

ng@a’wﬁm@ﬁ@ﬁm 3'5 cm @A T Ty
SRS HARET | U TR hama S=E 155 cm. FUEH T g

Teesordt fagH | (n=27-2—'5>m=|ﬁ3n)

T faef 1 B 3:5 cm 9 T W F R w2, @
AU W arifa 31 @ Raetd 9 gt 391 155 om 2

ot g e T i) (n=2—7%a‘1ﬁm)

e a @
™ Raein =

Or / WI&J1 / @91 / &t / srerar

Metallic spheres of radii 6 cm, 8 cm and 10 cm respectively

- are melted to form a single solid sphere. Find the radius of the
resulting sphere. Also find the surface area of the new sphere.

(Take & = %)

6 cm, 8 cm WF 10 cm APNER FBRG
TSR 391 HA | G (NEROR APy

mﬁﬁcfnwﬁl(n:%qﬁm)

MIPI COTETF 1R Bl TP (oM
et =11 =S TR corEeGR

B19-GM/21B
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The marks distribution of 30 students in a mathematics
examination are given below. Find the mode of this data :
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